25401 16 04033

10.

OR (3121an)

Describe vernier depth gauge. Write its uses.

afffar w1 i &1 9vfqa &N | s
SUAT Bl fod |

Define inspection. Write is the principle of
inspection ? Explain the need of inspection
in quality control.

frdteror & gRuTfa & | fAdevr &1
Rrgia @1 & ? oraan a3 e
® JIIIDAT DT ATT B |

OR(3721dT)

Describe floor inspection with their advantages
and disadvantages.

dag e &1 quis Sga arEl a9
g & 1T & |

Explain in brief different parameters of O.C curve

8
0.C3IRY & faftr= yrrfied &1 Gféra
qufq @ |
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2019(Even)

Time : 3Hrs. Sem I'V-Mech. Engg
M.Q.C
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.
9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5.

14

Explain P-chart in brief mention its uses.

P- IR &T G <arear o |

OR (312141)

04033

Write the advantages of floor inspection compared

to other method.

adel feor & aml & 3= e &t

ga 4 foad |
Explain the following
(a) Concept of tolerance

(b) Producer’s risk

frfafaa &1 auiq & |
(31) Tolerance ®1 JJAERUMT
(¥) SdEs R

OR (3121d1)

Write the factors affecting quality.

Ol YA B dTadl SRS &) ford |

04033

(i)

(iif)

(iif)

(iv)

3 25401

fSwey aggfg & o @) wrdl @ -
(31) uc™er |99 gI™T

(8) wiRaad fafer grr

(|) sycaer |9r9-T gl

(?) SwWaa ¥ 4 @13

Thex chart plots the ...........cc.cc........ of the
measurement in the sample.

(a) Average

(b) Median

(c) Mode

(d) None of the above

(|) dgaa®
(?) SWaa ¥ 4 &Ig Tl

The function of ...........c.c.... in industry is
to determine confermity to specification.
(a) Inspection

(b) Management

(c) Measurement

(d) None of the above

P.T.O
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Sfud, S sSIdey, ATSHIHEX

ST @1 YgdT S d ugad I9
ffoRaa & 4 w9 8 ?
(31) wrT
(@) R
(&) Reu
(]) wielx
GROUPB

Answer all Five Questions.

Y ufg g @ SR T |

2.

5x4=20

Write two main stages of inspection.

Fréieer & 31 g W= @l foad |

OR (3121d1)

Explain the terms.
(a) Reliability
(b) Maintainability

1 el @ T Y |

(31) fagaw-raar
@) srgrerofigdn
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(vi)

(vii)

(vii)

(viii)

5 25401

IrafRe Rt @ 7199 @ ford
ArghiMey &I SYAIT fhar Srdr @
(31) sk

(9) srga

(@) few Raa

(@) Swiaa & 4 HI$ T

The Dia. of the shaft can be checked by
(a) Slip gauge

(b) Height gauge

(c) Micrometer screw gauge

(d) Dial indicator

fodl g} & rE D Sfg B A1 GHd
2z -

(@) Rea AW gRT

(@) $a1E A9 gRI

(|) wswiier w6 AW gRI

(]) sIet ga® g1

In a O. C. curve the abscissa represent :
(a) Number of defects

(b) Percentage defects

(c) Sample number

(d) Probability of acceptance
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(xvi)

(xvii)

(xvii)
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Y SiTd & AT GhISER oo
PT AT 2

(@) affaz o= AW

@) affaR == W

(W) ArgshIdeR

(]) Sugad ¥ | I3 AL

As per Indian standards the slip gauges
according to accuracy are graded into how
many categories.

(a) 2

(b)3

(c)4

(d)6

ARAY 9F® & FTAR, YAl & YA

WR g 19 feaa dSTy o ST
fpar wirar 2 |

(@) 2

@) 3

() 4

() 6

Suggest the instrument used for accurate
measurement of external taper.

(a) Clinometer

(b) Dail gauge

(c) Sinebar and slip gauges

(d) Combination set

04033

(x)

(xi)

(xi)

(xii)
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ATHsl & G H wearad! freuar 28—
(31) sgeT®

(3) wrfea®T

(=) fage

(?) 379 4 HIg T8

Optical flats are made of
(a) Quartz

(b) Glass

(c) Plastic

(d) Steel

SN del 947 Bhar @
(31) F@cS @1

@) =t @1

(|) e @1

(]) e &1

The thickness of oil film at the surface of slip
gauge is

(a) 0.05 micron

(b) 0.1 micron

(¢) 1 micron

(d) 10 micron
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11.

OR(3721d1)

Explain AQL. How is it helpful to producer and
consumer ?

AQL &1 9uiq &X' | g8 Scureadh<l gd
SyHTTdT @ ford ©¥ ASTR Blar @ ?

Write the differences between vernier micrometer
and vernier calipers.

affaR Arsmifier vd sffaR ofead &
I’ Bl ford |

8

OR (3121a1)

Explain in brief the relationship between the
parameters of OC-curves.

OC IR & fafr=1 urRrfied & 9 g~y
&1 Gt qof= &Y |

skeskok

04033 17 25401

11.

OR(3721d)

Explain AQL. How is it helpful to producer and
consumer ?

AQL ®T 9uiq & | I8 IUTeAd<Il Ud
SUMIH & ford 9 AR 8ldr & ?

Write the differences between vernier micrometer
and vernier calipers.

affaR Arsmifier vd sffar ofead &
=)l Bl ford |

8

OR (3121a1)

Explain in brief the relationship between the
parameters of OC-curves.

OC IR & fafr=1 urRrfied & 9 =~
&1 Gt qoi= &Y |

skeskok
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